SA0951A class test 1
Answers and marking scheme
Marking
10 for ERM, 10 for mapping, 10 for normalisation.
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ERM

1 mark each (give half marks if incomplete or inaccurate notation or partial error) for:

· membership and subclasses

· Other entities

· Super/subclass participation
· One to one relationship (mandatory)
· One to many relationship

· Recursive relationship

· Multi-valued attribute
· Appropriate attributes

· Primary keys

1 extra for accurate terminology/assumptions stated

Mapping
Solutions shown here are for EERM above. Full marks given provided student’s mapping fits THEIR EERM as long as the complexity is comparable.

	Step 1
	Cust(cID, ……), Membership (MID ,…..), Administrator (adminid, …), 
	1

	Step 2
	Install(iID(ppk, amount, date)), GYM(..), AQUA(clubfee), Court (..)
	1

	Step 3
	Membership(MID, adminID* ….), Install(iID(ppk),…. mID(ppk)*)
Administrator(admin(pk), admin*)
	2

	Step 4
	Merge CUSTMEMBERSHIP(Custid, Mid(PK) …..)
	2

	Step 5
	
	0

	Step 6
	Gym(MID*,..), Aqua(MID*,..), Court(MID*,..) keep separate?
	2

	Step 7
	
	0

	Step 8
	n/a
	0

	Step 9
	Guest(mID*, gName)
	1


General – go to half marks if attempted but inaccurate
1 extra for clarity
If correct mapping but no steps or comments give 4 marks.

Part 2
	Priority
	CleaningDate
	CNum
	CName
	Reg
	Model
	DNum
	Depot
	Status

	1
	1/11/2009
	1
	Black
	AAA7
	X52
	1
	Dundee
	C

	1
	1/11/2009
	1
	Black
	BBB3
	Y76
	1
	Dundee
	

	2
	7/11/2009
	1
	Black
	CCC5
	Y89
	1
	Dundee
	C

	2
	7/11/2009
	1
	Black
	DDD6
	Z43
	2
	Aberdeen
	C

	2
	7/11/2009
	1
	Black
	EEE1
	T65
	1
	Dundee
	

	3
	1/11/2009
	2
	White
	AAA7
	X52
	1
	Dundee
	

	3
	1/11/2009
	2
	White
	FFF5
	V54
	2
	Aberdeen
	C


	· Primary key for unnormalised relation: composite of (priority, reg)

· 2NF: remove partial and full dependencies on PK (priority,reg)

CleaningStatus{priority (PPK, FK), Reg (PPK, FK), status}
CarDetails{ REG (PK), model, Dnum, depot}
      Priority{priority(pk), cleaningDate, Cnum, CName}


· 3NF: CleaningStatus is in 3NF, as all non-key attributes depend directly on the primary key

Priority { Priority (PK), CleaningDate, Cnum (FK) }
Cleaner{Cnum (PK), cname}
Car(Reg(pk), model, dnum(fk)

Depot(Dnum(pk), Depot)


	1
1
    1

    1
    1

    1




If correct answer is given with no steps or explanation, give 4 marks.
If steps given correctly but no explanation award maximum 8 marks.

ERM diagram

Roster has many-to-many link with Car with status as an attribute of relationship
Roster has many-to-one with Cleaner

Car has many-to one with Depot

1 mark each.

STUDENT:
	
	marks
	Test 

	Excellent

20

19

18
	24 - 30
	Excellent EERM, mapping and choice of attributes.  Excellent normalisation and explanation.



	Very Good

17

16

15
	20 - 23
	Very good EERM, mapping and choice of attributes.  Very good normalisation and well explained



	Good

14

13

12
	16 -19
	Good EERM (some lack of clarity), mapping and choice of attributes.   Good normalisation with some good explanation.

	Satisfactory

11

10

9
	12 - 15
	Satisfactory EERM, mapping and choice of attributes, but many design or mapping errors. Adequate normalisation but with moderate to little explanation.

	Marginal Fail

8

7

6
	8 -11
	The design and mapping of the EERM with its attributes has many flaws to justify a sound database.  Insufficient detail/clarity in normalisation and lack of explanation.  

	Clear Fail

3
	4 - 7
	Generally a poorly designed EERM and poor understanding of mapping and its attributes.  Normalisation incoherent and no explanation

	Little Evidence
	Less than 4 
	No evidence of understanding


